R=1.25x(0.12+0.12x¢**")

For wholesale exposures to regulated financial institutions with total

assets greater than or equal to $100 billion:

R=125%(0.12+0.12x¢ ")

For wholesale exposures other than HVCRE exposures, unregulated
financial institutions, and regulated financial institutions with total assets

greater than or equal to $100 billion:

R=0.12+0.12xe>%P

Maturity b=(0.11852 —0.05478 xIn( PD))

Adjustment

(b)
'N(.) means the cumulative distribution function for a standard normal random variable. N'(.) means the
inverse cumulative distribution function for a standard normal random variable. The symbol e refers to the base of
the natural logarithms, and the function In(.) refers to the natural logarithm of the expression within parentheses.

The formulas apply when PD is greater than zero. If PD equals zero, the capital requirement K is set equal to zero.



